PRACTICE PAPER

Time allowed: 45 minutes Maximum Marks: 200

General Instructions: As given in Practice Paper = 1.

Section-A
Choose the correct option:
111
1. If A=[11 1| thenA’is
111
(@) 27 A (b)y 2.4 (©) 3A () 1
2. If area of a triangle is 35 square units with vertices (2, = 6), (5, 4) and (k, 4) then k is
{a) 12 by =2 ) =12,=2 (d) 12, =2
3 -4
3 IfA '[1 _1} then A" equals

3n =4n

() [ n —n
b

If fix) = log cos x then f (T} equal to

(m) 1 (b) 2 () =2 (d) =1
At x-STn,fLr)-Zsin3x+3cos3xis

J¥H =(4d+n)
n -1

) () None of these

3!1 4!! {_l}ﬂ
lfl {_1 } g

(b) [

(@) 0 (b) minimum (¢) maximum (d) none of these

Read the following statements.

VF dx n
StatementI : Integral of / ﬁdx 577

2 a a
StatementIl : [ f(x)dx= [ f(x)dx+ [ f(2a = x)dx
0 0 0

Choose the correct option:

(a) Statement | is correct but statement Il is not correct.
(b) Statement 11 is correct but statement | is not correct.
(c) Both statements I and II are correct.

(d) None of these
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If fla+b=x) = fix), then _[frﬂ,x}d_t is equal to

+h +b b= +bh

(@) "'Tf fib=x)dx  (b) "’2 [ F(b+ x) dx () 2" [ f(x) dx (d) "TL” fix) dx
3

The value of J‘w dx equals
1=cosx

@ x+sinx+C (b)) x=2sinx+C (€) =x+2cosx+C () x=2cosx+C

J.e'll+.t'ld.t ) Lia

————— isequa
cos”(xe”) d

(@) = cot (¢#") + C (B) tan (xe")+C {c) tan (¢")+ C {d) cot (¢} + C

The area bounded by the curve y = sin™ x and the linex =0 and |y| = % is (in square units)

(@) 1 (b) 2 () = (d) 2n

The differential equation representing the family of curves y* = 2C(x + ,/C); where C is positive parameter,

is of

(@) Order 1 and degree 3 (b) Order 2, degree 2

{c) Degree 3, order 3 (d) Degree 4, order 4

The equation of the curve whose slope at any point different from origin is y + %_. is
@y=Cxe"C=0 (b) y=x¢ (c) xy=¢" (d) y+x=C

By the graphical method, the solution of LPP
Maximize Z = 3x, + 5x,
subject to 3x, +2x, =18

=4

LE6

X201

(@) x,=2,x,=0,Z=6 b 4,=2,x,=62Z=36
€) v, =4, x,=3,2=27 (d) x,=4,x,=6,Z=42

The sum and product of mean and variance of a Binomial distribution are 24 and 128 respectively then the

value of n is

{a) 1o (b) 32 (c) 24 (d) none of these
The probability distribution of a random variable X is given below

X o 1 2 3

Py 1 3 3 1

B 8 . .

then the mean is

1 3 5
(a) 5 (b) 1 ) 5 (d) £l
Section-B(BI)
Z =
A relation R in the set of non-zero complex numbers is defined by z, Rz, & ;Tz is real, then R is
1752

(1) Reflexive (b) Symmetric () Transitive (d) Equivalence



MNumber of onto (surjective) functions from A to B if n(A) = 6 and n(B) = 3 are

(a)2°=2 (b) 3*=3 (c) 340 (d) None of these

Let A ={7, 8,9, 10} and R {(8, 8), (9, 9), (10, 10), (7, 8)} be a relation on A, then R is

(1) Transitive () Reflexive (c) Symmetric (d) Mone of these
3+ 2

If flx)= =3 then

@ £ == fi) ®) f')=flx) (© (o (x) = x @ fo=-—fm

Let ® be a binary operation on Q = {0} such thata* b= % then (2* 3) * 5 is equal to

2 3 3 2
@) (b) 3 ) 5 (d) =
The domain of the function y = sin™(=x") is
(a) [0, 1] (b) (0, 1) ) [-1.1] (d) None of these
2 tan™ {cosec(tan™ x) = tan(cot™ x)} is equal to
{a) sin™ x (b) tan™ x ) mt'l% {d) none of these
T+

If ax+ bisec(tan™ ¥)} = ¢ and ay * bisec(tan™ y)} = ¢, then 1= :; =

2ac iac 2ac a+c

¥ 3
The positive integral solution of the equation tan™x + cos™ =sin™ —is
Y1+ y! v 10
M) r==2,y==1 b)) x=2,y=2 c) x=2, y==2 d)x=1Ly=2
A matrix A = [ayl, . , is said to be skew symmetric if
{a) az =0 (B) a;=—a; o) a5 =a; (d) a;j=1
If A and B are two matrices such that AB=Band BA = A, then A*+ B =
{a) 2BA (b) 24B () A+B (d) AB
Ax x* 1 ABC
If A =|By y* 1|and A,=|x y =z |then A - A, isequalto
cz 2% 1 Zy X xy
{a) 1 by o {c) 24, {d) none of these
100
If A=|1 1 2| then the value of det (adj (adj A)) equals
3 -19
(a) 11 (b) 121 () 1331 (d) 14641
W o Ao "1

If fix) = 2% then the value of f(1)+ flu + le + ISI L + fH[ . where f7(1) is the /"
derivative of flx) w.r.t. x is
{a) 1 by n {c) 2° (d) none of these

:(‘!i sin ¥ Co0sx
Let flxi=|6 =1 0 |, where p is constant, then £~ (0)
PP
(a) p (b) 0 ©p+p’ (dp+p
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The function flx) = |x| + |x=1] is

(@) f{x) is continuous at x = Das well asatx = 1.
(b) fix) is continuous atx = lbutnotatx = 0

(c) x) is discontinuous at x =0 as wellasat x = 1.

(d) none of these

Ix+d ’ dy
Ify-f(m]andf (x) tanflhenalsequalm
2
Jx+4 1
=2 b ¥
@) mn{it+ﬁ] “{5_1'1-5}1 () tan
Jtanx”+4
{}!{Etﬂnr-irﬁ) @ n of

The slope of tangent to the curves x = %+ 3t =8, y = 2t = 2 = 5 at the point (2, =1) is

X2 [ 7 =6
(o) = by = @ 5 (d) =
Read the following statements.

X . dx . 1. _1(Ex+9}
Statementl : The integral of _Ih—fl,m is equal to Ssin” | —5— +C.

2
1=
StatementII : The int lff( ]:ir alt
en e integral of |e 1+ is equ 1::-1_”.1
Choose the correct oplion:
{i1) Statement 1 is correct but statement 11 is not correct.
() Statement 11 is correct but statement 1 is not correct.
() Both statements [ and II are correct.
{d) Mone of these
The value of [’ "(ﬂ]:& i
value of |, tan P s
T
{m) 1 (b) O () =1 (d) I
If flx) = —— L = [ xglx(1-)dx and L, = fx(1 - 1)} dx, then the val £
fix) T+ ol = Je ¥glx(1=x)jdx an Jﬂ_ﬂgr{ x) e value o 115
(a) 1 (b) 2 (€} =1 (d) 0
If the area enclosed by y* = 4ax and line y = ax is l 8q. unit, then the area enclosed by y = 4x with same
parabola is
(a) B sq. units. (b) 4sq. units. ) = q.q units. () E 5q. units.

If y+%[xyl = x(sin x + log ), then

_ 2 iny+ 2 x, x C
{ﬂ}y—ms'.x+xsmx+xzmsx+ agx-g 2
2 2 x
{b}y--mat-?smt+?mx+—1ﬂgx E+?
B} 2 e e Eloer. X4+ E
{f}y--ms.t+:s1n:+:1cmx- gx-g 2

{d) Mone of these



34,

41.

42,

45,

47.

449,

The general solution of the differential equation
(1 + tan y) (dy = dy) + 2xdy =0 is

(a) x (sin y + cos y) =sin y + Ce' (b) x(siny+cosy)=siny+ Ce™

(c) y (sin x + cos x) =sin x + C&" {d) None of these

If |a|=4 and -3 =) <2, then the range of |}, a | is

(a) [O, 8] (b) [-12, 8] () [0, 12] (d) [8, 12]

The number of vectors of unit length perpendicular to the vectors @ =2i +j+2k and b=j+k is
(i) one b two () three (d) infinite

If r .E-l],?‘l_;n 0 and r .¢ =0 for some non-zero vector F, then the value of a [E' X¢)is

(o) 1 (b) 2 (c) O (d) =1

The vectors a = 3i = 2j + 2k and b =—i - 2k are the adjacent sides of a parallelogram. The angle between its
diagonal is

n T =T e §
() 1 (b) 5 () e (d) =
- +2 -
The image of the point (=2, 1, =2} in the line :-:13 -y3 1211 is
l{JEi -12? ﬂ (-IDE 127 -'1-(]} . (l{lﬂi 127 --]U d) ll]E- - 127 --ll]
{a) "17 ( 17 * 17 ' 17 1717 17 { 17 17 © 17

The eo-ordinates of the point where the line containing the points (- 4, - 5, 3) and (- 3, 1, 2) erosses the plane
determined by the points P(2, 3, 1), Q(2, 1, 2) and R(3, 6, =1) is

(a) (=2,7.-1) (b) (2,7, 1) ) =2,7,1) (d) (2,7,-1)
The distance of the point (4, 5, 3) from plane x + y + = = 2 measured parallel to the linex =y=2z is
() 6 units () 5 units (r) 7 units (d) Mone of these

The equation of line passing through the point (2, 1, = 4) and perpendicular to the lines
x+9 _¥-8 10 yx-29 ¥-15 ._5

16~ 8§ - 7 adTg ==
{ﬂ}x-2=y'15=z-5 ®) x=2_Y=1_2z+4

61 3 -5 61 24 112

x=2 ¥=1 7.4 " x=2 V¥*l 744
© =1 =721 T2 { 6l 2 T 112

A coin is tossed (2n + 1) times, the probability that head appear odd number of times is

n+1
Mm+1

(a) ] {c) % {d) none of these

1rt+1

For a binomial distribution mean is 9 and SD is %, then the value of n equals
() 12 B 36 () 9 (d) none of these

A function is randomly selected from the functions of set S where S = {1, 2, 3, ..., i} to itself, if probability

24
625" then m equals
(1) & b 5 () 4 (d) none of these

that it is one to one is

N == =2mMIL—-D>=



